uﬁ A ¥@d/East Central Railway

iR €S (oSl Swan & sfarid ARS faumt & 25% drgdr HYer $ dgd dad -2 F 2H-I/PS| F

_ UG & 99 & fore uy o)
Question paper for the selection of the post of Tech-lll (PSI) in level-2 against 25% Qualifying
quota in TRD Dept. under Sr DEE (TRD)/DHN.

e fadkt /Exam Date : 30-12-2024

JHY / Time
Min.

© 15:00 9§ 17:00 S9idd

Iufiear! & fY smawaes A3 /instructions to the candidate.

1J;Uﬁ'd?/Max. Marks :100
31af¥ / Duration 120 fAe/

1. fofga wlemr & 100% gy wy € S blue or black otherwise their answer sheet will
CHEET ] not be evaluated.
Written  examination consists of 100% 6. TS YBR P UH BT IR d FHUGI! BR
objective and the entire question are in the H1 fawrsien, sicn, Rfed =T feu
multiple choices. T IR 1 Yedich gl b1 STg|
2. $d 110 fiu @ g Sd 10 Iovw & While answering objective type question, no
IsfRIFUY B correction like overwriting, cutting, erasing,
. . . . scoring of ticked answer and modifying the
Totalt. 110 qu;s'.t:hns : re; Ogl:en :;CIUd'”g 10 answer in a% wgyﬁ shall not be evaluated.
questions on Rajbhasha (Optional). 7. Jufteart T gld § HEsd B,
3. G@maﬁm?&m%%_émmo PepacR, ThaC UlSdl, Y e A I
g4l BT & IW < UAD Y D 3P BT 3, Ule B AR TR B
3 grT 100 ¥ 3ifdw gl &1 IR f&ar Siran Candidates are not allowed to carry mobile
" . phones, calculator, electronic watches,
%v dl Had ugd 100 UHl BT &l Hedlp fapar Bluetooth’s etc. in the examination hall.
S| 8. Infiqar & AT 9, A HaR, HH B BT
Candidates are advised to answer only 100 R 4T G2 Uﬁﬁﬁ'&' T8 forgen =nfswl
questions. All objective questions will carry fERIT &1 Ure HRA # fathaidl & IRUTHREET
equal marks. Each question carries one AT g gahah gl
mark, if the candidate is attempted more than The candidate should not write his/her name,
I00 questions, only first 100 questions roll no., place of working or any identification
attempted will be evaluated. marks. Failure to observe the instructions
4 TEd IR P RIY THRIEAS S5 g TAD may result in disqualification.
1T IR ¥ 1T 1/3 3is el @ St srufd 9. wy WA Sl IR R # e & §1 faarg
: . -, fRufy & 3ol w Y ArIfores T S |
3 TTeid S %f?ﬂl@% . . The question paper has been set in English
There shall be negative marking for lncorrfect and Hindi. In case of ambiguity the English
answer.1/3 of the marks allotted per question version is to be considered authentic.
will be deducted for every wrong answer that 10. foat &lﬂﬁ?{ e ¥ JEd § IWica’t &1
means for 3 wrong answers one mark will be E'cb‘{ﬁmml
deducted. . In case of any unfair means the candidature
5. angdl Bl Haw THE 1 WE AQ AP will be cancelled. ‘
BT ST BT & 3T FTHT IR YT P 11. IRIad I3y 1 BT 4 Ura 3 |
Wq’zﬁm ST Candidates should strictly follow the above

Candidate should use only single color ink
instruction
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. TABRAT 3ol & 331 3@ & v s A foraanr qaatar
g gl

a) FRAR &, bR, o)fieT. d)yFR

2. HTEET IaEAT F TTHGIHAT FAT 7T Fl ¢

a) T - HT bR 313+ ¢) R AT d) FI o1, AT

+ FTO ATE)

3. TEHIR RIS ¥ AU g1 Fhdl ¢ FAE Tg — 81T 8l
Aysaeaelel , b)f¥eT ) TH TREe aTe, d)3Thicie)

4. IR N -a9eT Y FEAT, V - dietal, | - Fe g ar S0 A
IO & Far & a7 TeT 8T g1 31) N1 /N2 =V1/ V2
FHVUV2 =11/12 ENUN2 =VI/V2=11/12

5. ONAN/ ONAF &1# ¥ foreret U ¢ -
37) TTHBREAR & 31 @ 1 fafy

@) A

¥) &9 - g

%) THBRER AT

6. AT TAHRFT T fHAT FARIE qe7 W ar 7 5
TTF A& -

3 e P A AT A T Y @
) CRAGRHAT e’ olfs 81 T &

H) TSS &7 EPR 3if0& &

) 3WEd H 4 IS A4

7. ZRAGRHAT AW &1 T A W TG Hsalge &1 31aTT F @I
g, ¢ fpa dzg s T B

N AT FIFT A A AOF S ¥

&) el UFOel g SST R

) AT F o ARF AT A

T) AT &1 BDV 0w gramar g

8. 3Mer TR ou fr sgaver sufaw & a8 § +fF 3=
ATIHATA T -

31) 3T THA AT &

) 3 $Y gy aTar oSl & T g §

) ghloo Rt 3Nxe g s g

) T M gl - TSI el BY ST

9. gehlest Rl & W H 37T I

3) T saacREEd R g

&) TR I AR Bree § GO &ar §

) 3T g1 & Tow 39 3acer gf wfRar g

Z) 9ol - & AT HoRACI Hl NS aTel UST 3 o9 grar &

1. Which of the following is used to keep transformer oil cool?
a)Conservator tank, b)Radiator, c)Breather, d)Core

2. What does a transformer not do in an ideal state? .
a) Step — up b) Step down c) Iron loss d) Copper loss, iron +
copper loss)

3. Transformer oil can be dangerous because it is ---—-. A)
Inflammable, B) Toxic, C) Absorbing moisture, D) Unnatural.

4. If N is the number of turns, V is voltage, I is current, then which
of the following will not be true regarding the transformer? a) N1/
N2=V1/V2b)VI/V2=11/]12¢c)NI/N2=V1/V2=11/12

5. ONAN/ ONAF is a type of which of the following?
A) Method of keeping the transformer cool

B) widening

¢) Trap-changer

d) transformer earthing

6. If the terminal conncction of the transformer looks discolourcd,
then what is it indicating?

A) The terminal is getting hot due to loose connection.

b) Transformer overloading

¢) TSS has higher EPR

d) none of the above

7. The fact that transformer oil makes a bitter sound when heated

is an indication of what fact?

A) The amount of acid in the oil has increased

b) the oil sample is too cold

¢) there is more water in the oil |
D) BDV of oil has increased |

8. The provision of oil temperature trip is given because at high
temperature -

A) Oil starts freezing

b) The insulating capacity of the insulator decreases rapidly.

¢) Bucholz relay operates

D) Oil thickening - changer will fail.

9. False statement regarding Bucholz Relay

a) It is an electromechanical relay

b) Protects the transformer from internal faults.

¢) It is mandatory to collect gas to be an operator.

d) Bell - is installed in the pipe connecting the tank and
conservator.
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10. 3=IRETOT & ENIT AR OIP &R Fhbar & e & el
U A9 & F9 RErY 957 W ST FEAERY H T

3 IS T FRIATEr ALY g1, TrAHRR s 9x fom e
&) I RIT FEalr A

) TAEREF F =IAaH &F 0T W@ X A8 & T §

&) gRYer A EF - ST T PR ST A el T
RO & 3w FETr H FR

11. - 3eIT8T0T & ER1eT OTYWTI Y - ¥ &) e SRem?
M ARE 9) 3rfafis @) ats @) swRisa F 3 FS a8

12. OTI FAT qATAT § ?

37) TEHRFAR A 1 37T & SRt AT araAT=
&) TRIREAT 3T T 3a TR & NI Aegeiats aTaaTet
) TEBRFA AT T G & e 31RaFas aaa =T
&) SRR 3T T TR T AT

13. WTI 3T SaTar g 2

37) TAPRAT ASfEer & 3afer F e sittaa araseT
) TAERFAT IS 7 3 & el 30eas araaA
) TRABRER ar$fEar a1 3rafts & e sgsaw argAs
&) TTAhRER aArgfEar &1 fUede 3T AT

14. TUMI 38 & 38R LI JARAT & AT IL8T0T &
RIS AT T ATy A& B

37) EPR &Y SiTer

) fafasr e ez H Jrr

) OTUWTI &t ST

T) 9 - IR FAFU BT SSL9T gled by ST

15. P1 &t Siter o fore fRar SuenvoT ol I9itet feharm e &1

37) 3HAE, AecHET aUT FEHIR &) 3T - X

) AN g) BDV &&X

16. asfEar & RRufa 3= F e afy NausaT -
3 T AT -

MITFAYF MH2AIVF G ) ARSI - S
arsfEer & Afd Ay o @) 1 A IWF rg2 A Fwer

17. TIORESARI - S Y SHTS -

3 Aec ufa das ) A - HEA i Yehs

) alee YA AR &) A SHIS AL Qe

18. 318 - AT 3TeETor & 2N BDV ¥ & fav mad
A+ - ST TR

mgmtﬁmﬂz-gﬁaa:giam

) TATRHA AT S3T 8 & oI5

H) TRABRFAI H 5 & &9 G 7T HeT Tells) & a1

) X 3TTETOT & SR M - 2 IHeaRTd W) AT o T Feaed
N IGE

’,//’—\

-
\

10. What action will be taken if the oil level in OIP Condenge; \

booking is found to be
maintenance. ] )
A) No special action Wi
load .
i i i diately
Bushing will be replaced imme o -
E’; Tlrlansf(é):rmer can be taken on load by keeping it at minimum

gl; Tan-delta and capacitance of bushing will be checked and

action will be taken as per the result

1l be taken, transformer will be taken on

11. - OTI/WTI will not be re-set during maintenance?

A) Monthly B) Half-yearly C) Yearly D) None of the above

12. What does OTI indicate?

A) Average temperature of transformer oil during the peno_d
B) Minimum temperature of transformer oil during the period
C) Maximum temperature of transformer oil during the period
D) Maximum permissible temperature of transformer oil

13. What does WTTI indicate?

a) Average temperature of transformer winding during the period
b) Maximum temperature of transformer winding during the
period

¢) Minimum temperature of transformer winding during the period
d) Maximum permissible temperature of transformer winding

14. As per TUMI 38, what is not mandatory during monthly
maintenance of traction transformer.

a) Checking for EPR

b) Checking for silica gel breather

¢) Checking for OT/WTI

d) Checking for discoloration of bus-bar connections

15. Which instrument is used for checking PL.
a) Ammeter, voltmeter and wattmeter b) Earth tester
c) Megger d) BDV tester

16. Winding condition will be considered good if the value of
polarization-edex is -

a) less than 1 b) more than 2 ¢) polarization-edex does not indicate
winding condition d) more than 1 but less than 2

17. Unit of polarization-edex is —
a) Volt per second b) Mega-ohm per second
¢) Volt per rotation d) There is no unit

18. Oil sample for BDV test should be taken during half-yearly
maintenance.

a) Immediately atter transtormer shut-down

b) After transformer oil cools down

¢) After running the transformer for half an hour on 5 no tap

d) During the entire maintenance, take samples at short intervals
and put them in sample bottle
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19.R60/RlOHﬂTRGOO/meﬂmﬁTHQﬁW#%’
31 BDV &) PPM H) & 5ot ) TSI - $3F

20. R60 /R10 Tl & AT -

31 60 O @ 10 O F T . '
a)mamﬁaﬂommaamommaﬁrﬂ%w.
mmﬂ@gﬁmﬁmaﬂommsomm
ST @) IWeEd A P

21, TUMI 38 & 3R PI oReror & aRoms afe 1.1 & & &

3t FT FEETEY T S TR

3) TIEERIR HAS Feell A AT

) R et R # ¥ 3 Rl guricHs Frdarer
&Y HTIIThAT 8T &

) TTAGRAT I BT I A S el AT

) TUMI 38 58 Gae & g Renfader g &ar

22, PrAfaf@a & & Sl a1 oReTor TAERER 3 A9 W
&1 foram STaT -

3) IR &) DGA ®)BDV &) PPM

23. TRGRFAT N &1 faegared &rerdr H1 IRETT - ¥
ZaRT fFar Srar &

30 IR ) DGA ®) BDV &) PPM

24, TARTR T A 3TYT reir v Arar fhe gfkayor & e
AT A 82

3) hehol ST §) PPM ¥) FoR &IC &) &of - STl

25. SrgAeT AAEEH Y Janfad e arel R -

37) aTSfEer T 3HR ) ATIHA

) AR ) 3UFT Tl

26. IR JETOT 7 FIR AT F ATY - T IAIHAT NPTS FAT
=ifgul

M TMOLG H)OTI &) Jaurd

27. IR 9ReFor & giTet AR QfFar & @rer - grey qdggor e &
T gt gleT ATfRu?

3) AIR AIFET  9) AR F1 A T ARFe 71

) ATTaROT T TS HT ATIHAT

&) 3T |

28. 3TIeT e & T T HU -

31) ATYATH g1 & A1 IR doG HA BT E

&) AT TUT 3RS & folehed ST § BDV et TAcet erem &
) 3 free e & gt g% 0 7 et oy

) R 9% ae W aTgHTe fIRAT g IR s Y agar &

29. AT 3ERETOT & gRIe ftes OIP R 9X 7 fohar se
areT aREToT -

WA -3ear ) FARETA) IR T) el

30. SR ZIAGERAR & 25KV JRIT & 1 - 39 7 A1 913
6. 5T @25 A W75 AL 1 AR

19. R 60/ R 10 and R600/ R 60 signals are related to which test
A) BDV B) PPM C) Tan Delta D) Polarization - Edex

20. R60 / R10 signal means -

A) 60 O and 10 O resistance

B) Reading after 10 seconds and 60 seconds of operating the
megger

C) Reading after 10 seconds and 60 seconds after stopping
operating the megger handle D) None of the above

21. According to TI/MI 38, what action should be taken if the

result of PI test is less than 1.1.

a) Transformer oil should be replaced ) o
b) Transformer is in good condition, hence no corrective action is
required

¢) Transformer oil should be filtered and then retested

d) TI/MI 38 does not give any guidelines in this regard

22. Which of the following tests is not done on transformer oil

sample -
a) IR b) DGA c) BDV d) PPM

23. The insulating capacity of transformer oil is tested by --- test
a) IR b) DGA ¢) BDV d) PPM

24. The amount of water present in transformer oil is determined
by which test?
a) Crackle test b) PPM c) Colour test d) Tan - delta

25. Factors affecting insulation resistance -
a) Size of winding b) Temperature
¢) Humidity d) All of the above

26. In IR test the temperature of ---- should be recorded along with

the Megger reading.
a) Air b) MOLG ¢) OTId)aand ¢

27. During IR test what should be recorded in the test report along
with the Megger reading?

a) Rating of megger b) Make and serial number of megger

c¢) Temperature of environment and oil

d) All of the above

28. False statements regarding oil filtration -

a) IR value decreases with increase in temperature

b) Good BDV is obtained after removal of moisture and impurities
¢) Dissolved gases are not able to escape through oil filtration

d) When filtration is stopped, temperature falls and IR increases
rapidly

29. The test not to be done on shielded OIP bushing during annual
maintenance is -
a) Tan-Delta b) Capacitance ¢) IR d) Crackle

30. The spark gap value in 25KV bushing of traction transformer
is usually
a) 16.5cmb) 25 cm ¢) 75 cm d) | meter
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31.h-mﬂhm@mm%wﬁ-
) AT 3 ey Fr e wer &
a)méﬁna?ﬁﬁmrmg‘rma
mméﬁwmrsagmmﬁévwa‘rm%

&) $1 - FIAT Aoest 7 v &
32.§f%'=TCTHmm:ﬁ»‘aa:r3i7r%?

3) TR THERA &) AT - 100 Ky a

W) SPHAT @) cB-

34.mmmma%ﬂn—-ﬁﬁ%’l
3)CB , b) BM, ¢) ACB, d) 3EEAE)

35.saﬁ#mTPcmﬁmm#ﬁﬁﬁaﬂ'€r%
a)CB, b)BM, ¢) DPI) &) HI$ 718

36. TP, DPI, SPI, BP[ H T TAAAT §
3) T3 & Wy CB wem grar
mmmﬁwaﬂﬁ%
TR FPFarar

&) | AFHIAER & wepr &

37 fRdlr cB & foIT deer d e 7 -

3) A gl 3T

) 1O T JreoT

¥) CB & WO T 1§ 9311 778 qaar
g) IS TEY

38.3@@WCB/BM$W?{%ZB§H'§@HTI
37) foherar o e Fae

%) S 376 T e

) A FHleeae/ i Freac

&) NTHE Freaex

39.3aﬁawc3mM$3ﬁqmﬁrﬁéﬁﬁfmaﬂwaﬁg-
37) T ANYA/TIT FelloT

) T8 3=/ Rever Fraiter

W) TR 3=/ Foier Failer

&) ONAN/ ONAF

40. CB/BM & 3e[e1oT & forw sifovamd aidy & -
31) TPC & PTW WIc &t

) 2t T & SPUBPI #3091 BT

o) RaafTr=w it dewer gt o1 7@

&) HR qoF Y 1 110 dtee ToaTS e I

31. Increasing the tap of a tap-changer increases
because -

a) Number of turns in the winding increases

b) Resistance of the winding decreases

¢) Insulation resistance of the winding decreases

d) In-coming voltage increases

the V()hage

32. Bushing CT is usually a part of ?
a) Power transformer b) AT - 100 KVA
¢)AT inSPd)CB -

33. Where is PRD installed ?
) Behind the control panel b) Below the transformer marshalling
box

¢) Above the bell-tank d) Next to the conservator tank
34. Off load hand operated switch is called -----
a) CB, b) BM, ¢) ACB, d) Isolator

35. Which of the following is not controlled by TPC through
remote control -----

a) CB, b) BM, ¢) DPI d) None “

36. What is common among TPI, DPI, SPI, BP] -----
a) All have CB attached

b) All isolate the transformer

¢) All are fitted in FP

d) All are types of isolator

37 Total break time for a CB is -
a) Less is good

b) More is good :
¢) Does not affect the performance of CB '
d) None ‘

38. Which of the following is not present in pole unit of CB/BM. ‘v

a) Fixed and moving contact f
b) Means of extinguishing electric arc !
¢) Main contact/ arcing contact ‘
d) Auxiliary contactor ?

39. Which of the following is not a type of operating mechanism "
of CB/BM -

a) Air oper/ air close I
b) Spring open/ spring close |
¢) Air open/ spring close “
d) ONAN/ ONAF

40. Which of the following is not mandatory for maintenance of
CB/BM - “
a) Getting PTW from TPC

b) SPI/BPI on both sides should be open

¢) Switchgear should be kept on local controll

d) Keeping 110 volt supply off till the work is completed
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41. ST A F7 4T SreaAll SRFRE I Fellot AG) ghar?

) TSS Ferer YeTer &I TaTs &) SSP &7 AfFfeyer BM

H) HV CB @) ST BM

42,19 KV ¥ & et gl W -

37) af foter BM aFalleT & @Y 3ioet g1 ST §

§) CB HFRN &€ Y STl &

¥ HV/LV CB Rugr s g

) 3uerd & J HS G

43. 25kv AC TERIS # SSP T YTATRi?T BM SSP 3iatei # fra
R A OHE T ReTel FAT § 2

3) FolaRIe O AET & IR JWF A grar g

) TR OF & AT T g

o) AT T TART TG §

&) S - IR & ey &Y JuTerr Sk a1 &

44, TH - IR FAGAS 1 QA & {H HIAT AT TUT T: 7€ -
dloc 8 TR  FH = A1fe g, IS -

31) CB 9 it & 31k WTI &7 T 3 &

) oY - ATTE HTEToT T T &

) 9 - IR FIaRI Ie9T @IS 95 &l

) IRFd A A RS A

45. FREY TSS & F1fleh #ex fEo & FAest arer fonet Jmrehst &r
T T ST TIRT A 37 1SS @ e A PF AT
FIAT Y -

31) KVAH. KVARH
) KVA, KVAR

&) KVAH, KWH
&) KVA, KW

46. TEY TSS ¥ Teal 7 37%T - BRI eree, T T 3T 82
31) STefiet & oA 3 - SATen a)yéaﬁrgéﬁsfﬂ'vr
) Teh I S5 ) TS o &I 37 - arR
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37) TSS & W BM &) SSP T SP & Wi BM

) SSPF AFFTBM &) SP F AT BM

48. TeR ZTAGRAR &1 ford we Y G & e gRiar T
sriYer foam ST €1

3OCR &) DPR W) EFR  &)DFR

49, RHIRT Wiere F AT e CT & garer R srar
&

3) LV QXE CT2 A7 §)HVET CT 27
HHVIACTLVARE CT & HVAATLY & CT

50<%WMHWWEWQWWW
[

3) TEEIGR & el Bloe @) a7 aleest
) R e ) A & Xad FA QAT

41. Which of the following does not close without catenary
indication?

a) Door of TSS control panel b) Sectioning BM of SSP

¢) HV CB d) Bridging BM

42. When voltage is less than 19 KV -

a) If bridging BM is closed then it opens

b) CB compressor closes

¢) HV/LV CB trips

d) None of the above

43. Tn 25kv AC traction, paralleling BM of SSP parallels OHE of
which direction in SSP overlap? a) Connection is not good and
heats up too much

b) Connection is good and does not heat up

¢) Normal weather conditions

d) Quality of bus bar material is not good

44. Bus bar connection should be opened and cleaned and nut-
bolts should be tightened properly again, if -

a) CB trips and WTI is indicated

b) Pre-monsoon maintenance is being done

¢) Bus bar connection appears discoloured

d) None of the above

45. Which data from monthly meter reading of a TSS should be
used if average monthly PF of that TSS is to be determined -

a) KVAH, KVARH b) KVAH, KWH

¢) KVA,KVAR d) KVA, KW

46. What is the meaning of the term Earth-screen in context of a
TSS?

a) Earth net below ground b) Earthed fencing

¢) Rack warning board d) Earth wire hanging on gantries

47. Under voltage relay is related to which of the following ?
a) All BM of TSS b) Parallel BM of SSP and SP
¢) Sectioning BM of SSP d) Bridging BM of SP

48. Bushing CT is used for which type of protection of power
transtormer ?

a) OCR b) DPR ¢) EFR d) DFR

49. How many CTs are used for differential protection ?

a) LV turret CT 2 nos b) HV turret CT 2 nos

¢) HV guarantee CT LV turret CT d) HV and LV turret CT

50. Differential protection provides protection from which type of
fault ?

a) Internal fault of transformer b) Over voltage

¢) Over current d) Low oil level

Page 6 of 11




51. OCR - T oY &I Wera aear &
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) eSefere - T &) 314 Bree

57.CTD U STl sqaeem i -
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51. What does OCR-T protect against?

A) Over current due to overload

B) Over current due to earth fault

C) Over current due to earth fault away from TSS

D) Current exceeding 200% of full-load current instantly due to
any reason

52.-What does DPR protect against?
A) Over current due to overload

B) Earth fault away from TSS

C) Over current due to earth fault

D) Current exceeding 200% of full-load current instantly due to
any reason

53. Which relay gets in-put feed from both CT and PT.
A)OCR B)DPR C)EFR D) DFR

54. If the value of trapping current of a CB has to be changed,
then which adjustment has to be changed?

a) This cannot be done, CB has to be changed

b) CT has to be changed

¢) Relay setting has to be changed

d) Battery voltage has to be changed

55. WPC relay is installed in TSS. (True/False)
a)One inSP  b) Two in SP
¢)One in TSS d) Two in TSS

56. Earth screen provides protection against what?
a) Touch voltage b) Step voltage
¢) Lightning stroke d) Earth fault

57. CTD is an interlock system -

a) The statement is false

b) CB trip and 110 volt control supply

¢) CB operation counter and autorecloser
d) High voltage and alarm

58. OCR - I provides protection against what? a) Over current duc
to overload

b) Over current due to earth fault

¢) Over current due to earth fault away from TSS

d) Current intensity exceeds 200% of full load due to any reason

59 Uses of 100 KVA AT used in TSS -
a) For yard lighting b) Stand by

¢) For filtration plant

d) To correct power factor

60. It primary of CT is charged then secondary winding should
not be open circuit -

a) There is no such restriction

b) Primary winding gets over voltage

¢) CT winding gets burnt

d) CB is not able to close
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61. ereT & HSROT & foIT T IR TT -
37) 7TH 4T O ) A TUT I F T A
mgrwa‘znﬁﬂw a)a;wamz(&armrﬁ

62. et o & T & T 39T & afee ; A
3) JTRETOT Y FRYUT ) TP AT

) dgd W ol & g ggH & faw

%) IR Felr

63. 3TRUT & TAY Fael & G A F Collfeesh e & oie
T ST A1)

31) AT AT ITERTF ¢

&) O AT T &

W) X 3HARY FEAT AT

) Frdt o war Y ox T fofa ST wie e

64. 70 33 B2 2 Sharel gy & 3T WS F Hest A FT
AR A g ?

31) SraTeT T et T &Y 70 A §

&) S PR & FEFeX G wSef 35 a4 AT

&) 3erel CLS HOeS & forT 9T gham

65. RSt - T3 Shelel Y Ao -

30 FEAPR 40 A @) Rgad 40 a1 A

) AP 20 T A A %) fgarR 20 731 A A1

66. T PR I 79T EF NG & FE [T Fheiel T 1T
At g2

Mo 18233

7. Ty STt T SR TTSTEERT et @it o Fo¥af ohter &
3) SHAR HT FEM W &) Farel Y e T

) G Y g T ) IRFd T W

68. 3aTeT PR AT T & [T o §US - ol ol 3UGNT foham

SArg 2
moE g @) Rres @) Rdr-ga &) Ul - T Y

69. et 3 A FlF 3iTY - RAe T & -
3) OCR-T &) DPR ®) WPC &) ITR
70. qTaX e o G AT §

A.09 B.0.8

C.1.0 D.3aAH ¥ F ar

71. The acid used in lead acid battery is
A. Salt acid

B. Sulphuric acid

C. Sodium chloride

D. None of these

61. The most suitable place for storing cables is -
a) Damp and dark b) Damp and in sunlight
c) Dry and dark d) Dry and in sunlight

62. Trenches should be used for laying cables; why?
a) For convenience of maintenance b) Mechanical
protection

c) For identification among many cables

d) All of the above

63. At the time of storage, the open ends of the cable should
be wrapped and tied with plastic etc.

a) It is necessary to do so

b) It is wrong to do so

c) It must be done

d) It should be done at any one end

64. What information does one get about the size of a cable

when we say 70 sq. mm. 27

a) The total cross-sectional area of the cable is 70 mm.

b) The size of the conductor of each core is 35 sq. mm. d)
The cable will be used for CLS supply

65. Size of discharge rod cable -
a) Multicore 40 sq. mm. b) Singlecore 40 sq. mm.
¢) Multicore 20 sq. mm. d) Singlecore 20 sq. mm.

66. How many stands are allowed to be cut for proper
tightening of lugs on cable core?
a)0b)1c)2d)3

67. Insulation resistance of a cable depends on ?
a) Condition of insulation b) Length of cable
¢) Thickness of insulation d) All of the above

68. Which hand tool is used for tightening of cable core
lugs?
a) Torque wrench b) Ring spanner c) Crimping - tool d) L-N

key
69. Which of the following is not auto-reset -
a) OCR - T b) DPR ¢) WPC d) ITR

70. The ideal value of power factor is
A.0.9 B.0.8
C.1.0 D. None of these

71. 35 URAE AN & ST @ arer R '
A. FTee Uil

B. oW tfis

C. aif3an FaREs

D. 37 & FIg AT
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72. The work of step down transformer is to
A. Change the voltage

B. Reduce the voltage

C. Give constant voltage

D. None of these

73. The material used for fuse wire is
A. Lead + Aluminium B. Lead + Tin
C. Aluminium + Copper  D. Silver + Copper

74. Current is measured in...

A. Ohms B. Amps

C. Volt D. None of these

75. 9-volt battery that give 5A current. how much power will
this battery will generate?

A. 9 Watt B. 45 Watt

C. 14 Watt D. None of these

76.Which device converts electrical energy into mechanical
energy?

A. Motor B. Generator

C. Transformer D. None of above

77. Find the correct formula, | = current, V = voltage, R =

resistance
A l=VR B.I=RN
C.V=IR D. None of these

78. Copper wire is a
a. Good conductor b. Bad conductor
c. Both aand b d. None of this

79. Which type of current is obtained from a battery?
a. AC b. DC

c. Both AC and DC

d. Depends on type of battery

80. During the situation of short-circuit, the current in the
circuit

a.reduces to zero  b. increases greatly

c. does not change d. oscillates

81. Which of the following circuit elements will oppose the
change in circuit
current?

A. Capacitance
C. Resistance

B. Inductance
D. None of these

82. Power factor of electric bulb is

A. Unity B. Zero
C. Leading D. None of these

83. Inan A.C. circuit power is dissipated in
A. Resistance only  B. Capacitance only
C. Inductance Only D. None of these

84. What is the full form of DRM?
A. Divisional Railway Board

B. Division Rail Maintainer

C. Divisional Railway Manager
D. None of these

72, B2 ST3A SRAGIAT H FA &
A drctet geoer B AleeS FH FLA

C. R aesr e D. g & T

73, v AR ¥ T R g arer &

A,ag+t"&‘gﬁm8.ag+ﬁﬂ 5
C. veafafags + @ D. feal + P

74 ic F fpas AGT AT E... .
A 317 B. T C. e D. 38 ¥ &IS gl

75.9 dlee &1 &l Y SA FC & &, IE S ool
fasrelr der FG? A9 die B. 45 dic

C.14 g€ D. 39 & &g gl

76. FleT W 3T AT Folt & AT Foil A qEoidr
g2 A. AleT B. e

C. TEBIA D. 34H & FIF w7dT

77. 961 G A A, | =GR, V = dlecsT, R = g

A I=VRB.|=RN

C.V=IRD.3a# ¥ #1% 78

78. A & X UF &

a. TBT FSFX b. W FFex

c.a3R bt d. 37 ¥ P 7GF

79. 40 @ fFE IHR T aRr e @i 22

a.ACb.DC
¢. AC 3R DC gt

d. 48 & gHR W R awar &

80. we-affe i U & ke, wfde F Fie
a.:‘l\wﬁm%b.agﬁaam%

c. gl SSoAdT d. el FaT &

81. BFIfafla # & #i9 @1 wfe aeg afee e &
aftadsT &1 faiy wyem?
A.mﬁare.mc.wﬁmao.saﬁaﬁéaﬁ

82. faege aea &1 ara¥ therex
A. ThdT B. e C. 3@ D. 59 & 1% a8

83.@A.C.Hﬁrcﬁ%a-oﬁmmmg
A.muﬁms.mmﬁmc.mmo.mﬂ

IS g

84. DRM & ol &9 F1 &7 A 7w Yod &1 B, #zer X
HETH C. HSd YT WaUF D. 398 § FS aigt
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85. Who is the head of personnel department at division
level?
A. Sr. DCM B. Sr.DOM
C. Sr.DPO D. None of these
86. Which is the national sport of India?
A.Hockey  B. Cricket C. Kabaddi D. None of these

87. How many LHAP are available in a calendar year?
(@) 10 (b) 15 (c) 20 (d) 25

88. What is the maximum time period for which child care
Leave can be sanctioned?

(a)1 year (b) 2 years (c) 3 years (d) 5 years

89. What are the maximum no. of LAP's that can be
encashed at the time of retirement?

(@) 150 (b) 200 (c) 300 (d) 360

90. What is Pass?

(a) Pass is a Privilege. (b) To travel in Railway

(c) Authority given to a Railway employee to travel in a
train gratuitously. (d) None of these.

91. Full form of P.T.O. ,
(a)Personnel Ticket Order (b)Permanent Ticket Order
(c)Privilege Ticket Order (d)Pass & Ticket Ordef.

92. What is the full form of D&AR?
(a) Disaster and Accident Rescue team
(b) Discipline and Appeal Rules
(c)Department and Administrative Rules
(d) Disaster and Action Rules

93. The statue of Unity is located in which state? (D)
A. Odisha B. Maharashtra.
C. Chhattisgarh  D. Gujarat

94. Vande Bharat express is also known as? (B)
A. Train17 B. Train 18
C. Train 19 D. Train 20

95. In which City “Gateway of INDIA “is Located? (B)
A. Pune B. Mumbai
C. New Delhi D Ahmedabad

96.Who is the Author of the BooK " The Discovery of India
“?(C)

A. Motilal Nehru  B. Mahatma Gandhi

C. Jawaharlal Nehru D. Rabindranath Tagore

97 Which city is called the pink City Of India? (B)
A. Udaipur  B. Jaipur
C. Jodhpur  D. Sholapur

98. World Environment Day is observed on? (C)
A.June7 B.June5 C.June10 D. June 3

99. The study of Cancer is Called ? (D)
A. Neurology B. Osteology
C. Ornithology D. Oncology

100. Kaziranga National park is located in which
A. Sikkim ich state? (D)

B. Nagaland
C. Arunachal Pradesh
D. Assam

55, IS T S R 1 g e g 1.4
AT DCM B. B DOM C. #faR DPO D. zo73f §
P TG

86. HRT I IET T He a7 &7

A. g B. e C. #9332 D. 37t & 1S a1t

87. U& Hoist a¥ H fFas LHAP 3uesy ¥

(a) 10 (b) 15 (c) 20 (d) 25

88. HfU&aA 3 R & s v ases Fx 99
g I ST g 82

(@1 a¥ (b)2 a¥ (c) 3 a¥ (d) 5 a¥

89. YaTfgie & FHY AT ST Fehe! AT LAP Y
HhTH TEAT FT &2

(a) 150 (b) 200 (c) 300 (d) 360

90. YTH T 87 (a) I U fAAWITSR &1 (b) W &
IHT HTAT (c) Yeld FoAay i & A For:qeh arr
& HOFR fear e 1 (d) 3 F P AL

91. P&, & qof w9

(a) FTHF e MY (b) TURN Rere 3mder

(c) AR Reve e (d) T 3R Ree 3meer)
92. 31 U3 UHR. & QO §9 &7 §7

(a) 3T9eT AR ghea FuTE o (b) IR 3R 3reher
A4 (c) faemer 3R genafas Ras (d) smver 3k s
IGer

93. ®=y 3w I v s & fwa &2 (D)

A. 3fS2M B. FERTSE| C. BAEeG D. Iorre

94. 9 HRA vFEdw & 3R o wer Smar €2 (B)
A. ST 17B.&T 18 C. 3T 19D. 7 20

95. “dea 3T sf3ar frew R & f&a 22 (B)
A U B.#eg C. 7% feeel D 3@HeEe

96. Q&I ‘< BEhal HE BAT F AwE Fa 82 (0)
A. AT AgE B. #gleAm anedy

C. SaEeTd #g® D. WigaAty &R

97 fohE UG N R T AT AFT FgT A 872 (B)
A. 3ETR B. FAGT

C. SUqY D. AT

98. faRg gaiavor feaw Fa FART ST 872 (C)

A.7 S B.5 5@ C.10 5@ D. 3 5

99. FAT & HCTUA H FA FeT A &2 (D)

A. 7garT B, 3fifeeaiartsh

C. HifFararst D. siferprarst

100. FNT T 3eA v T # Reud €7 (D)
A. RfFsa B. A3

C. JeUad WU D. 3wA

Page TU of T1




Lage s v

101,30 TSTHINT Frlvade AR & regey ——-3F
A. t@# /Minister of railway  B.3hwa/ GM
C.wd 3 SfruH/SDGM D. dr €@ 3 wA/PCOM

102. HASH I(STHINT Fleadel FATT F HCYET e —&
A St THI.GM B.AXW/DRM
C.aR. #aRW/SrDOM D .@gr. IRWAOM

103. Redr Raw w9 AR e 27
(v)18 Rary () 14 RaFR
(¥ 2 3R (3)) 8 3wTE

104. Tt FOFIA FF F9=AT TWRAT 2
()7 311963 (3N 17 7S 1963
(@ )10 7S 1963 (2N) 17 39T 1963

105. TSTHIT AT T IS el ThaAT 1T
(W7 371955 (&) 7 ST 1956
@) 1075 1963 (3) 17 I 1952

106.T(STHTST 3T & frae GeeT 8 &
(@) 20 (@) 15 (@) 30 (&) 10

107 TSTHINT FHET WATY F For ey Feew @1 &
(@40 @20 (@30 @25

108.7roremwT 3fOfas &e sarT Tar 2
(T) 1967 (a) 1963 (&) 1976 () 1965

109.TTHIT f3#, 1976 FIFIR IHUSAW FaR g
wog forE &1 & T B

(v) '@ & (CUMINES

@w e () F U T ET A

110.97Xd & WUH TSEHI Pl 82 -
(U) ARAShRROT e (J) Yo
@) yFardy R e (3 ) 5987 ¥ FS 787
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Answer Key for the selection of the post of Tech-lIl (PSI) in level-2 against 25%

L qualifying quota in TRD Dept. under Sr DEE (TRD)/DHN ]
1 B % | D 51 | A 76 | A | [0 [ B |
2 | o 27 D 52 B 77 C | 102 | B
3 | A 28 C 53 B 78 A | 103 | Bj\
4 | Invalid 29 D 54 C 79 B | | 104 | cq
5 A 30 B 55 D 80 | B | | 105 | A
6 B 31 A 56 | C 81 B 106 | € |

7 C 32 A 57 B 82 A 107 c |
8 B | 33 | ¢ | | s8] b 83 A 108 B |
9 A 34 D | 59 C 84 C 109 c |
10 D 35 C 60 C 85 C 110 A
11 D 36 D 61 C 86 A
12 C 37 A 62 D 87 C

13 B 38 D 63 C 88 B

14 A 39 D 64 B 89 C

|15 C 40 D 65 B 90 C

16 | B 41 D 66 A 91 C

L 17 | b | 42 A 67 D 92 B

I 18 | A | | 43 |invalid | 68 c 93 D

| 19 | o | | aa | A | 69 D 94 B

| 20 | 8 45 C 70 C 95 B

| 21 | 46 B 71 B 96 C

| 22 A 47 D 72 B | 97 B
23 C 48 D 73 B | 98 | 8 |
24 A 49 D 74 B | 99 D |
25 B 50 A 75 B | 100 | D |
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